





155




S S J
X ST
4 T--a
A2
(A 11%)
>
A 13,168
(A 7%)
// /

16










1000
900

800 r I '
700 |
Al

600

500

400 r
300 |
200

100




40

40 40
C-1 1,700km 2.6t
4 C-130 4,000km 5t
C-X 6,500km 12t
C-1 C-130 KC
O




[N

[N

o
1

| E e — |







10



2500

2000

1500

1000

500

8000

6000

4000

2000

il

oE0o0Om

WU OB ittt

19

23

43

48

53

58




70000 s = 50,000 50,000 .
165000 [ = ——— - mir s
160000 1 — 45000 FT [ 111 | 45000
s E=l=n=E
] e T N S B 40,000 40,000
1 = 135000 [ | 135000 —
100 | 30000 30000 -
120000 —
%%3‘888 25000 — | 25000 —
e e e e e g B i T I T T 0 A N s B
HL2 HI3 H4 - HD HIb H12  HI3  H14  HI5  HI6 HI2  HI3 Hl4 HI5  HI6
H12 H13 H14 H15 H16 H12 H13 H14 H15 H16 H12 H13 H14 H15 H16
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